Get out your homework from yesterday and start checking your
answers. After we check the homework we will take the Target
Check.

Classwork - One Step Equations w/ Rational Coeffiecents

simplify each expression by crealing an area model 1o distribufe the number in front of the parenthases

A $022 - %) B) —4(2x — 8) C) s (~6x +2)
{?;-—Ff -"E:-t-r?;.'a “Be+f
D) =5(—a + 6b) E)2(ix + 5) F) 3 (—4x — 16)
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Simplify the following expressions.,
G) =3(2n + 4) — In H) 2(—z 4 4) + &z )6+ 7(2c = 2)

~L2+%1bz o+ 1414
Lil— ""fi-'l-ﬁ! (f"'fx.'gj;
D102 +6) + 42 K) =(3x — 2) +4 ‘lm@uzn-aqu-z]

~Sx s+, t+4x =+ L+ La- e+l

—x +3 f-ﬁﬁﬂ:; ~o + 2L




Simplify each expression to decide whether the 2 expressions are equivalent or nol. Show work o prove your

answer. Equivalent ex ions have the same simplified expression after you combine like terms.
M) Expression #2
(Circle Your Answer) =3(x—4)+5
Equivalent =3+t S
C_H Equivalent “3¢+l?F
N} Expression #2
(Circle Your Answer) —Ix+ 2} +4x + 7
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Mot Equivalent = 9‘:" —(



On your own piece of paper, solve the following equations below
using correct inverse operations.

Solvethe following one-step equations. Make sure to show inverse operations on BOTH sides and WORK
DOWN, SHOW ALL WORK. Guess and Check i1s not a method to use anymore,

Example: x+5 = —4 Check Your Worl! mﬂ_"
x+5= -4 Put your solution into the ornginal (-9 . +-5_E 4
~5 =5 | equationtocheck ifthe left sideof | 22> - J/
x = —9 the equation is equal to the right 4= 4
side of the equation. -
x = —9 is correct
—_ - x
1*‘&*—5 fﬁmﬁ=4|;5 Cl2x =30
E)7x = —49 F)b-18=13
— —
¥ 2 ’H? 1R




Vocabulary Start-Up g

Two numbers with a product of 1, such as %and %, are called reciprocals
or multiplicative inverses,

Complete the graphic organizer.
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\[‘[;Fiae 1+ Descrive It
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List Sowe Exoumples lwverses List Sewe Nowexawgles |
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Describe how a multiplicative inverse is used in division of fractions.



Inverse Property of Multiplication (? “ 24

Words The product of a number and its multiplicative inverse is 1.
7.8 T3, 2.

Numbers o X< =1 3 X 3 =1

Symbols %-% =1, whereaand b # 0 ——

The numerical factor of a term that contains a variable is called the
coefficient of the variable.

X

i i
coafficient }::- 31’ =T | variable ]
i i,

In the equation %E = 18, the coefficient of ¢ is a rational number. To solve
an equation when the coefficient is a fraction, multiply each side by the
multiplicative inverse of the fraction.



_Example

1. Solve ic = 18. Check your solution.
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114
c=24
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Check %c=1E

2(24) 218
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18 =18

4 38
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Write tha II'II||J|!:I-.':'|
i =] 18 i
Write 18 as : Divide by common faciars
5 mpl .‘_,'
Write the onginal equalion
Replace ¢ wilh 24

N L
Write 24 as —

This sentence is true

Got i+7 Do these problems to find out.

1 —
a. E:{— 12

—24=
b. —5d=4

Divide by common factors.

c. 15

Wl

T
I.E

2

TI‘ C =
Multiply ach side by the multiplicative inverse of 3. 4 ==
ulipdy each side by the muliplicative inverse o T . q






:
- Example

2. Solve 155 = 16 Check your solution.

1%5 = 15% Write the equation.
EES = % Rename 1:[. u:-..;.'j and 15; as 'ij
1 3 — E E i [ o s tha ilimlicatraa ivares o
(3] ' ES = (3] 5 Multiply each side by the multiplicative inverse o
1 1 1 m
% *;%5 =§" . %3- Divide by common factors
1 1 1 1
s=1 Simplify

Got +7 Dothese problems to find out.

1 _ 21 _ab _ 7 _ 1
1:L4E—3§c e. Eiaw 108 f. 13_-.-r 42
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Solve Equations with Decimal Coefficients

In the equation 3.15 = 0.45n the coefficient of n is a decimal. To solve
an equation with a decimal coefficient, divide each side of the equation
by the coefficient.

“Example @

3. Solve 315 = 0.45n. Check your solution.
315 = 0.45n vire the equation.
315 - 0.45n Unasion Property of bquality

0.45 0.45
7=n Simplify.
Check 315 = 0.45n Write the original equation.
3.15 = 0.45(7) Replace n with 7
315=315 v The sentence is true,

Go¥ i+7 Do these problems to find out.

g. 49 = 07t h. —14m =21 i. —5.6k = —12.88
— ——
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